

Exo 05:

$$\begin{aligned} 1. \int \frac{x^2}{1-x^2} dx &= \int -1 + \frac{1}{1-x^2} dx \\ &= \underbrace{\int -1 dx}_I + \underbrace{\int \frac{1}{1-x^2} dx}_{II} \end{aligned}$$

$$I = \int -1 dx = -x + C_1$$

$$II = \int \frac{1}{1-x^2} dx = \int \frac{1}{(1-x)(1+x)} dx = \int \frac{A}{1-x} + \frac{B}{1+x} dx$$

$$\frac{A}{1-x} + \frac{B}{1+x} = \frac{A(1+x) + B(1-x)}{(1-x)(1+x)} = \frac{A+B + (A-B)x}{(1-x)(1+x)}$$

$$\begin{cases} A+B=0 \\ A-B=1 \end{cases} \Rightarrow A = \frac{1}{2}, B = -\frac{1}{2}$$

$$\int \frac{A}{1-x} + \frac{B}{1+x} dx = \int \frac{1/2}{1-x} + \frac{-1/2}{1+x} dx$$

$$= \frac{1}{2} \ln|1-x| + \left(-\frac{1}{2}\right) \ln|1+x| + C$$

$$= \frac{1}{2} (\ln|1-x| - \ln|1+x|) + C$$

$$= \frac{1}{2} \left( \ln \left| \frac{1-x}{1+x} \right| \right) + C$$

$$\text{So: } \int \frac{x^2}{1-x^2} dx = \underbrace{-x}_I + \underbrace{\frac{1}{2} \ln \left| \frac{1-x}{1+x} \right|}_{II} + C$$

$$2. \int \frac{dx}{(1+x)(1+x^2)} = \int \frac{A}{1+x} + \frac{Bx+C}{1+x^2} dx$$

$$\frac{A}{(1+x)} + \frac{Bx+C}{(1+x^2)} = \frac{A(1+x^2) + (Bx+C)(1+x)}{(1+x)(1+x^2)}$$

$$= \frac{(A+B)x^2 + (B+C)x + A+C}{(1+x)(1+x^2)}$$

$$\begin{cases} A+B=0 \\ B+C=0 \\ A+C=1 \end{cases} \Rightarrow \begin{aligned} A &= \frac{1}{2}, B = -\frac{1}{2} \\ C &= \frac{1}{2} \end{aligned}$$

$$\int \frac{A}{1+x} + \frac{Bx+C}{1+x^2} dx = \int \frac{1/2}{1+x} + \frac{-1/2x + 1/2}{1+x^2} dx$$

$$= \frac{1}{2} \int \frac{1}{1+x} + \frac{-x+1}{1+x^2} dx$$

$$= \frac{1}{2} \int \frac{1}{1+x} - \frac{x}{1+x^2} + \frac{1}{1+x^2} dx$$

$$\int \frac{1}{(1+x)(1+x^2)} dx = \frac{1}{2} \left( \ln|1+x| - \frac{1}{2} \ln|1+x^2| + \arctan(x) \right) + C$$

$$\textcircled{3} \int \frac{dx}{x^2 + 2x - 3} = \int \frac{1}{(x-1)(x+3)} dx$$

$$\textcircled{4} = \int \frac{A}{(x-1)} + \frac{B}{x+3} dx$$

$$\frac{A}{x-1} + \frac{B}{x+3} = \frac{A(x+3) + B(x-1)}{(x-1)(x+3)} = \frac{(A+B)x + 3A - B}{(x-1)(x+3)}$$

$$\begin{cases} A+B=0 \\ 3A-B=1 \end{cases} \Rightarrow A = \frac{1}{4}, B = -\frac{1}{4}$$

$$\textcircled{5} = \int \frac{\frac{1}{4}}{(x-1)} + \frac{-\frac{1}{4}}{(x+3)} dx$$

$$= \frac{1}{4} \int \frac{1}{(x-1)} dx + \left(-\frac{1}{4}\right) \int \frac{1}{x+3} dx$$

$$= \frac{1}{4} \ln|x-1| + \left(-\frac{1}{4}\right) \ln|x+3| + C$$

$$= \frac{1}{4} \left( \ln|x-1| - \ln|x+3| \right) + C$$

$$= \frac{1}{4} \ln \left| \frac{x-1}{x+3} \right| + C$$

$$4) \int \frac{4-2x}{(x^2+1)(x-1)^2} dx = \int \frac{Ax+B}{x^2+1} + \frac{C}{(x-1)} + \frac{D}{(x-1)^2} dx$$

$$* \frac{Ax+B}{x^2+1} + \frac{C}{(x-1)} + \frac{D}{(x-1)^2} = \frac{(Ax+B)(x-1)^2 + C(x^2+1)(x-1) + D(x^2+1)}{(x^2+1)(x-1)^2}$$

$$* = \frac{(A+C)x^3 + (B-2A-C+D)x^2 + (A-2B+C)x + (B-C+D)}{(x^2+1)(x-1)^2}$$

$$\begin{cases} A+C=0 \\ B-2A-C+D=0 \\ A-2B+C=-2 \\ B-C+D=4 \end{cases} \Rightarrow \begin{matrix} A=1, C=-1 \\ B=1, D=2 \end{matrix}$$

$$\Rightarrow \int \frac{4-2x}{(x^2+1)(x-1)^2} dx = \int \frac{x+1}{x^2+1} + \frac{-1}{(x-1)} + \frac{2}{(x-1)^2} dx$$

$$* = \int \frac{x+1}{x^2+1} dx + \int \frac{-1}{x-1} dx + \int \frac{2}{(x-1)^2} dx$$

$$\Rightarrow * = \left[ \frac{1}{2} \ln|x^2+1| + \arctan(x) - \ln|x-1| - 2\left(\frac{1}{x-1}\right) \right] + C$$